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Complete the cards

10 + 6   is the same as   11 +

10 + 6   is the same as  9 +

15 – 3    is the same as  20 –

Two shirts cost £12

How much do 5 of the shirts 

cost?

1 2
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A bucket holds 5 litres of water.

Yasmin uses 7 and a quarter buckets 

to fill the barrel with water.

How much water does the barrel 

hold?

Leah has a piece of ribbon 4.8 

metres long.

She cuts a 1.2 m piece of ribbon off 

from the end.

She cuts the remaining ribbon into 2 

pieces of equal length.

How long are the pieces of ribbon?

1 2
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